
Aufgabenblatt Brüche addieren 

Lösungen 

1. 
1

3
+

3

22
=

1∗22

3∗22
+

3∗3

22∗3
=
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66
+

9
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=

31

66
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1

3
+

1

8
=

1∗8

3∗8
+

1∗3

8∗3
=

8

24
+

3
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=
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24
 

3. 
8
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+

7
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=

8∗6

13∗6
+

7

78
=

48

78
+

7

78
=
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78
 

4. 
17

30
+

7

45
=

17∗3

30∗3
+

7∗2

45∗2
=

51

90
+

14

90
=

65
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=

65:5

90:5
=
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5. 
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30
+

4

12
=

19∗2

30∗2
+

4∗5

12∗5
=
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60
+

20

60
=
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=

58:2

60:2
=
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3
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7
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3∗3
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7
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9
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+

7
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=
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8
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3

8
+

2

7
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3∗7
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+

2∗8

7∗8
=

21

56
+

16
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=
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3

24
+

4
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=

3:3
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+
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=

1

8
+

2

8
=

3
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2

5
+

4
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=

2∗21

5∗21
+

4∗5

21∗5
=

42
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+
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105
=

62

105
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1
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+

1

5
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1∗5
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+
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5

495
+
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=
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495
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3

7
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1
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3

7
+

1

5
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3

7
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1

5
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1

7
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4

7
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1

5
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7∗5
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1∗7

5∗7
=
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+

7
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=

27

35
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1

3
+

1

7
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1
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7
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2
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1

2
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42
+
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=
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2

9
+

2
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1
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2∗5
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1∗3
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=
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45
+

30

45
+

3

45
=

43

45
 

14. 
3

14
+

40

84
+

39
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=

3∗18

14∗18
+

40∗3

84∗3
+
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=
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+

120
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+

78
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= 1 

15. 
4

26
+

3

18
+

12

26
=

16

26
+

3
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=

16∗18

26∗18
+

3∗26
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=
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468
+

78
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=
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=

366:2

468:2
=
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=
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